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7TrngA: ReplyC-1: 3
What number is it? It's three.
8TrngA-2:  What number is it?
ReplyA-2:  IUS...ccvvvvviiiniinnnn,
9For example: 2 1 7 9 11 12 10
two one seven nine eleven twelve ten
8 13 4 5 6 14 17 20
eight thirteen four five SiX fourteen seventeen twenty
10TrngB: ReplyB-1: 6
How many cards do you have? | have six cards.
11TrngB-22  How many cards do you have?
ReplyB-2: I have............... cards.
12TrngC: ReplyC-1: 4

How many coins do you have?

13TrngC-2:
ReplyC-2:
Japanese section
I
TrngA:
TrngA-2:
ReplyA-2:
For example: 2 1 4
8 13 4 5
TrngB:
ReplyB-1: 6
TrngB-2:
ReplyB-2: .......
TrngC:
ReplyC-1.: 4
TrngC-2:

ReplyC-2:

| have four coins.

How many coins do you have?

| have............... coins.
ReplyC-1: 3
9 11 12 10
6 14 17 20



